Quizlette 5.2.1 - Conservation of Energy with Pictures Name

Fd + mgh + */,mv? = Fd + mgh + */,mv?

What speed at the bottom?

h=2.15m
.......................................................... (65 m/s)

What speed at the top?
v;=8.7m/s

S

................................................................... (58 m/s)

What speed at the top?

u=8.6m's

[ h=425m
h=215m

(5.7m/s)



What final velocity?

Vi=4.6 m's

Pushes with 53 N for 35 m (5.6 m/s)

v;=5.8m/s Brakes for 4.5 m. Final speed after
1s 4.0 m/s. What force brakes?

h=2.15m \

.......................................................... (99.6 N)

‘What speed at the top?

v;i=7.1m/s Accelerator exerts 48.0 N for 2.10 m

5~ ]

................................................... (4.66 mls)



